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QUESTION 1

A user logs in to vCenter Server as an administrator and is unable to view Single Sign On Configuration. Which vCenter
Single Sign On group should the administrator belong to, to view Single Sign On Configuration?

A. ComponentManager.Administrators

B. Administrators

C. SystemConfiguration.Administrators

D. SystemConfiguration.BashShellAdministrators

Correct Answer: C

QUESTION 2

A vSphere administrator has a requirement to move virtual machines between vCenter Servers using vSphere Client.
Which condition should be met for the Cross vCenter Server vMotion to succeed?

A. vCenter Servers must be time-synchronized

B. vCenter Servers should be appliances

C. vCenter Servers should be in different vCenter Single Sign-on domains

D. vCenter Servers should be on the same version

Correct Answer: A

Reference: https://kb.vmware.com/s/article/2106952

QUESTION 3

Which teaming and failover policy offers the lowest latency when a failover or a migration with vSphere vMotion
occurs?

A. Network failure detection
B. Fallback

C. Notify switches

D. Load balancing

Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.0/com.vmware.vsphere.networking.doc/GUID4D97C749-1FFD-403D-B2AE-OCDOF1C70E2B.html
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QUESTION 4

A vSphere administrator attempts to create a VM-VM affinity rule but is unable to locate the option in the vSphere
Client.

What would cause this to happen?

A. vSphere DRS is disabled

B. vSphere DRS is set to manual

C. Admission control is not enabled

D. Affinity rules are only managed using the Host Client

Correct Answer: A

QUESTION 5

A vSphere administrator uses a Dedicated Failover Hosts Admission Control Policy in a cluster. An ESXi
host fails and vSphere HA attempts to restart the VMs onto the dedicated failover hosts. The hosts have
insufficient resources.

What happens to the VMs?

A. vSphere HA restarts VMs in another cluster.

B. vSphere HA suspends the VMs until a host is available.

C. vSphere HA powers down the VMs.

D. vSphere HA attempts to restart the VMs on other hosts in the cluster.

Correct Answer: D

Reference: https://pubs.vmware.com/vsphere-50/index.jsp?topic=% 2Fcom.vmware.vsphere.avail.doc_50%2FGUID-
CAF5F9EE-4235-4151-BEBE-FCB2A752407B.html
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